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OEMA B
B1.
o)
class Student:
def init (self, onoma, vathl, vath2):
self.onoma=onoma
self.vathl=vath1
self.vath2=vath2
def find mo(self):

mo = (self.vathl + self.vath2) /2.0

return mo
P)
studentl = Student(“Iwdvvov™,6,7)
student2 = Student(“Avaoctaciov”,10,9)
V)

mol = studentl.find mo()
mol = studentl.find_mo()
if mo1>mo?2:

print student]l.onoma
elif mo2>mol:

print student2.onoma
else:

print student].onoma,student2.onoma



B2.
S=0

for 1 in range(1,11,2):

S=S+i
print S
B3.
A 7 8 3 4 -2
lo mépacpa -2 7 8 3 4
20 TEPOUGLLAL -2 3 7 8 4
30 mépacpa -2 3 4 7 8
40 mépacuL -2 3 4 7 8
OEMAT

fin=open(‘thermo.txt’,’w’)
pl=0
for i1 in range(10):
on=raw_input(‘Adote 10 dvopo TG TOANG)
sum=0
for k in range(30):
therm=input(‘Aodocte Oeppokpacia’)

while therm < -50 or therm > 50:
therm=input(‘Zavoadmote Oeppokpocio’)
sum=sum-+therm

mo=sum/30.0

print mo

1f mo<0:
pl=pl+1

fin.write(on+’ ‘“+str(mo)+’\n”)




print pl

fin.close()

OEMA A
def Search(x,L):
pos=-1
N=len(L)
i=0
while i <= N-1 And pos == -1:
if L[i] == x:
pos =1
i=it+1
return pos
CODE=[]
ESODA=]
kwd=raw_input(‘ A®ote K®dKO’)
while kwd!="TEAOX’:
timi=input(‘ Twun mpoidvrog:’)
plithos=int(input(‘[TA7n00¢ Tepoyinv:’))
CODE.append(kwd)
ESODA .append(timi*plithos)

kwd=raw_input(‘A®ote k®O1KS)



N=len(CODE)
kodikos=raw_input(‘A®cte TOV K®OIKO TOL TPOIOVTOS)
pos=Search(kodikos,CODE)
if pos==-1:

print ‘Aev Bpébnke Tpoidv pe avtdv ToV KOOKO’
else:

print ESODA[pos]

pl=0.0

for k in CODE:

if k[:2]=="GR’:
pl=pl+1
pososto=pl/N

print posost



